27 (By order)

Ll

Fortec Star

MODEL: FC -240 cm

NO ITEM DESCRIPTION

1| [zzzzzza M8 x 12mm hex-head capscrew | 36

2 | zzZzZzzza M6 x 12mm hex-head capscrew | 12

3 (@ M6 hex Nut 3

4 | | [z M8 x 45mm hex-head capscrew | 9

5| [ [zZzZzZzzzA M8 x 50mm hex-head capscrew | 3

6| @— % * 1< anchor boit 9

7 (@ M8 hex Nut 44

8 | [ [zzzA MBx60 screw 1

9| z=z M8 x 20 hex-head cap screw 1

10 Mounting Clamp 4

1] © @ 6 fiat Washer 6

120 D Knob Bolt 1

13| Oz M10x20 hex -head cap screw | 1

14| e=—run=—, Feed hom (LNB) Supporting Rods 3

20, —) Reflector Dish 6

21, O Reflector Rim (Dish rim) 1

22 |E————= MountingRods 2

23| m————= | Elevation Inner Pole 1

24 Elevation Outer Pole 1

25 Side Tense Rods 4 1 @, @
26 O Mounting Bottem Rim 1

27 @ Central Panel (By Order) 1 Thread Max Tightening Torques

28 Central Panel Stablizer(By Order) | 1 M6 8.8N.m 90Kgf.cm
29 Reinforced Plates 6 M8 214N.m 220Kgf.cm




